PHIẾU ÔN TẬP MÔN TIẾNG ANH LỚP 6 - TUẦN 30
(09/3/2020 -15/3/2020)
I. Choose the word whose the underlined part is pronounced differently from the other’s. Circle A, B, C or D
1. A. this 			B. though  		C. health
2. A. mother 		B. cloth 		C. within
3. A. feather			B. theatre 		C. earth
4. A. weatherman 		B. Thanksgiving 	C. neither
5. A. bathroom 		B. cathedral 	C. another
6. A. bite 			B. kind 		C. like 		D. bit
7. A. now 			B. show 		C. slow 		D. snow
8. A. prepare 		B.  career 		C. care 		D. share
9. A. fear 			B. bear  		C. hear		 D. near
II. Choose the underlined part that needs correction in each of the following sentences. Circle A, B, C or D
1. We  play many games at the park yesterday.
   A		    B 	C 		    D
2. Did you wacthed the show last night?
      A                 B      C     D
3. Jack, not close the door! We keep it open for the cat.
A			   B 	     C 		D
4. Arsenal wined Manchester United by 3-0 last Sunday.
 A 			    B 	C                D
5. In the final match, Pele was scored a beatiful goal.
     A 		  B			 C 	         D
III. Complete each sentence with a suitable preposition
1. She likes swimming                       jogging.
2. He liked her                        she was happy.
3. We were late                       there was an accident.
4. I didn’t feel well                          I stayed at home.
5. I liked Spain                       I want to go home.
IV. Use the conjunction at the end of each group to connect the sentences
1. We turned to the Movie Channel. We wanted to wacth Pinochio. (because)
->                                                                                                                           .           
2. I am interested in the history of television. I’ve read a lot of books about it. (so)
->                                                                                                                           .           
3. He goes to lots of music festivals. He doesn’t like camping. (although)
->                                                                                                                           .           

IV. Read the passage and decided which answer A, B, C or D best fits each space
Sydney is the (1)                       of the state New South Wales in Australia. It is the largest, oldest and perhaps the (2)                         beatiful city in Australia. Sydney has a population of 4.5 million. Its harbour is one of the largest in the world, and famous (3)                   the Harbour Bridge and the Opera House. The trees in the city centre are narrow  (4)                           many art galleries, restaurants, pubs, but the streets in Paddington are (5)                             and the house are big.
1. A. site 		B. village 			C. capital  		D. home
2. A. more 		B. lesss 			C. most  		D. fewer
3. A. for 		B. with 			C. at 			D. in
4. A. on 		B. to 				C. at 			D. with
5. A. long 		B. wide 			C. short  		D. narrow
V. Rearrange the words to complete the sentences
1. lives / street / grandparents / he / Hoang Quoc Viet / his / on / with.
->                                                                                                                           .           
2. tallest / my / is / the / family / in / brother / person / my.
->                                                                                                                           .           
3. lives / very / from / he / far / office  / his.
->                                                                                                                           .           
4. did / Who / play  / with / you / badminton / yesterday ?
->                                                                                                                           .           
